

$$\frac{7}{7} - \frac{7}{9} =$$

$$\frac{5}{7} + \frac{4}{11} =$$

$$\frac{8}{10} + \frac{5}{10} =$$

$$3\frac{3}{6} + 11\frac{3}{5} =$$

$$10\frac{6}{10} + 10\frac{6}{11} =$$

$$100\frac{1}{6} + 5\frac{6}{7} =$$

$$\frac{8}{11} - \frac{5}{8} =$$



$$\frac{7}{7} - \frac{7}{9} = \frac{63}{63} - \frac{49}{63} = \frac{14}{63} = \frac{2}{9}$$

$$\frac{5}{7} + \frac{4}{11} = \frac{55}{77} + \frac{28}{77} = \frac{83}{77} = 1\frac{6}{77}$$

$$\frac{8}{10} + \frac{5}{10} = \frac{13}{10} = 1\frac{3}{10}$$

$$3\frac{3}{6} + 11\frac{3}{5} = 3\frac{15}{30} + 11\frac{18}{30} = 14\frac{33}{30} = 15\frac{3}{30} = 15\frac{1}{10}$$

$$10\frac{6}{10} + 10\frac{6}{11} = 10\frac{66}{110} + 10\frac{60}{110} = 20\frac{126}{110} = 21\frac{16}{110} = 21\frac{8}{55}$$

$$100\frac{1}{6} + 5\frac{6}{7} = 100\frac{7}{42} + 5\frac{36}{42} = 105\frac{43}{42} = 106\frac{1}{42}$$

$$\frac{8}{11} - \frac{5}{8} = \frac{64}{88} - \frac{55}{88} = \frac{9}{88}$$

